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Comprehension:

The following table shows the number of students (Boys and Girls) and the percentage of girls
who passed in a 10+2 examination from six different schools (A-F) in the year 2023 and 2024.
Based on the data in the table, answer the questions that follow.
School-wise Details of Students Passing in a 10+2 examination

Year
School 2023 2024
= Number of PassedtPercentage of [Number of Passed|Percentage of
Students [Passed Girls Students Passed Girls
A 500 6% 550 44%
B 600 42% 640 40%
C 650 56% 560 45%
D 720 60% 800 48%
IE 600 54% 840 55%
13 650 50% 750 36%
SubQuestion No : 1
Q.1 For School F, the mumber of boys who passed in the year 2024 is approximately % more
than that in 2023.
1.42.5
2.47.7
3.52.8
4.57.5
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380663962
Option 11D : 93806615409
Option 2 ID : 93806615410
Option 31D : 93806615411
Option 4 1D : 93806615412

Status : Answered

Chosen Option : 2
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Comprehension:

The following table shows the number of students (Boys and Girls) and the percentage of girls
who passed in a 10+2 examination from six different schools (A-F) in the year 2023 and 2024.
Based on the data in the table, answer the questions that follow.
School-wise Details of Students Passing in a 10+2 examination

Year
School 2023 2024
=" Number of P d[Percentage of [INumber of Passed|Percentage of
Students [Passed Girls Students Passed Girls
A 500 6% 550 44%
B 600 2% 640 40%
C 650 56% 560 45%
D 720 60% 800 48%
IE 600 54% 340 55%
F 650 50% 750 36%
SubQuestion No : 2
Q2 average number of girls who passed in the year 2024 from all the six schools is % of
the number of students who passed from School A in the year 2023.
1.61.1
2.62.2
3.63.3
4.644
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380663963
Option 11D : 93806615413
Option 2 1D : 93806615414
Option 31D : 93806615415
Option 4 ID : 93806615416

Status : Answered

Chosen Option : 2
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Comprehension:

The following table shows the number of students (Boys and Girls) and the percentage of girls
who passed in a 10+2 examination from six different schools (A-F) in the year 2023 and 2024.
Based on the data in the table, answer the questions that follow.
School-wise Details of Students Passing in a 10+2 examination

Year

School 2023 2024
Number of P d[Percentage of [INumber of Passed|Percentage of
Students [Passed Girls Students Passed Girls

A 500 6% 550 44%

B 600 2% 640 40%

C 650 56% 560 45%

D 720 60% 800 48%

IE 600 54% 340 55%

F 650 50% 750 36%

SubQuestion No : 3
Q.3

‘What is the average number of boys who passed in the 10+2 examination in the year 2024 from
all the six schools (A-F) together?

1.376
2.377
3.378
4.379
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380663960
Option 11D : 93806615401
Option 2 ID : 93806615402
Option 31D : 93806615403
Option 4 1D : 93806615404

Status : Answered

Chosen Option: 4
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Comprehension:

The following table shows the number of students (Boys and Girls) and the percentage of girls
who passed in a 10+2 examination from six different schools (A-F) in the year 2023 and 2024.
Based on the data in the table, answer the questions that follow.
School-wise Details of Students Passing in a 10+2 examination

Year

School 2023 2024
Number of P d[Percentage of [INumber of Passed|Percentage of
Students [Passed Girls Students Passed Girls

A 500 6% 550 44%

B 600 2% 640 40%

C 650 56% 560 45%

D 720 60% 800 48%

IE 600 54% 340 55%

F 650 50% 750 36%

SubQuestion No : 4

Q4 What is the ratio of the number of boys who passed from School A in 2023 to the number of girls

who passed from School E in the year 20237

4:

o LB
S h La
~ B

Options 1.
2.
3.
4.

A W DN =

Question Type : MCQ
Question ID : 9380663961
Option 11D : 93806615405
Option 2 ID : 93806615406
Option 31D : 93806615407
Option 4 1D : 93806615408

Status : Answered

Chosen Option: 3
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Comprehension:

The following table shows the number of students (Boys and Girls) and the percentage of girls
who passed in a 10+2 examination from six different schools (A-F) in the year 2023 and 2024.
Based on the data in the table, answer the questions that follow.
School-wise Details of Students Passing in a 10+2 examination

Year

School 2023 2024
[Number of PassedtPercentage of [INumber of Passed|Percentage of
Students [Passed Girls Students Passed Girls

A 500 46% 550 44%

B 600 42% 640 40%

C 650 56% 560 45%

D 720 60% 300 48%

E 600 54% 340 55%

IF 650 50% 750 36%

SubQuestion No : 5

Q.5 Number of boys who passed in the examination is more than 300 in the year 2023 as well as in
2024 in only schools.
L. two
2. three
3. four
4. five
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663964
Option 11D : 93806615417
Option 2 ID : 93806615418
Option 31D : 93806615419
Option 4 ID : 93806615420
Status : Answered
Chosen Option : 1
Q.6 ; y :
Which of the following is not a web browser?
1. Opera
2. Safari
3. Firefox
4. Google
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663991
Option 11D : 93806615525
Option 2 ID : 93806615526
Option 31D : 93806615527
Option 4 ID : 93806615528
Status : Answered
Chosen Option : 1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

Q.7 ‘What is not a Research?

1. Research is a careful and exhaustive investigation of a phenomenon with an objective of
advancing knowledge.

2. It is a systematic and objective attempt to study a problem for the purpose of deriving
general principles.

3. Research is based on common sense knowledge, based on the accumulated experiences and
beliefs of the people.

4. It is a systematic investigation to find solutions to a problem.

Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 9380663970
Option 11D : 93806615441
Option 2 ID : 93806615442
Option 31D : 93806615443
Option 4 ID : 93806615444

Status : Answered

Chosen Option: 3

Q8 \atch the LIST-T with LIST-TT

LIST-1 LIST-II
(Concepts) (Meanings)
Generalized representations of a system
or an object, that is constructed to some
aspects of that system or the system as a
whole.

A.|Theory I:

Research problem is represented by a

B.|Model IL mathematical model.

It is a set of systematically interrelated
C.|Survey III. | propositions that explain and predict a
phenomeneon or a fact.

It is a data collection technique using a

D.|Modeling V. : ;
questionnaire.

Choose the correct answer from the options given below:

1. AL, B-IL, C-IIL, D-IV

2. A-IV, B-TII, C-II, D-I

3. A-IL B-IIL C-IV, D-T

4. AL B-1, C-IV, D-II
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Question ID : 9380663974
Option 11D : 93806615457
Option 2 ID : 93806615458
Option 31D : 93806615459
Option 4 1D : 93806615460

Status : Answered

Chosen Option : 4
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Q.9
The full form of AICTE 1s
1. Academic Institutions Council of Teacher Education
2. All India Council for Technical Education
3. All India Constitution for Teacher Education
4. All India Institute for Teacher Education
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664001
Option 11D : 93806615565
Option 2 ID : 93806615566
Option 3 1D : 93806615567
Option 4 ID : 93806615568
Status : Answered
Chosen Option : 2
Q.10 : : : : :
Arrange the following terms in order of increasing denotation.
A. Chess
B. Board games
C. Sports
D. Indoor games
Choose the correct answer from the options given below:
LABED
5. C.D AR
3.C,D,B,A
4.A,B,D,C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663988
Option 11D : 93806615513
Option 2 ID : 93806615514
Option 3 ID : 93806615515
Option 4 ID : 93806615516
Status : Answered
Chosen Option : 4
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Q.1 For different sets of datasets X and Y, correlation coefficient between X and Y, that is R and
standard deviation of X and Y, that is, S(X) and S(Y) are given in A-D below. Estimate the
covariance between X and Y for each dataset and arrange in ascending order.
A.R=05 S(X)=8, sS(Y)=10
B.R=4/7, S(X=7, S(Y)=9
C.R=0.7, S(X)=12, S(Y)=5
D.R=19/42, S(X)= 14, S(Y)=6
Choose the correct answer from the options given below:
1.B,A,D,C
2.C,B,A,D
3.B.D.AC
4.A,C,D,B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663972
Option 11D : 93806615449
Option 2 ID : 93806615450
Option 3 1D : 93806615451
Option 4 1D : 93806615452
Status : Answered
Chosen Option : 2
Q.12 : ; - <
Find the wrong term in the series given below:
3,12, 36, 144, 432, 1738, 5184
1. 12
2.432
3. 1738
4.5184
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663980
Option 1 ID : 93806615481
Option 2 1D : 93806615482
Option 31D : 93806615483
Option 4 1D : 93806615484
Status : Answered
Chosen Option : 3



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON

Google Play

Q.13 Which of the following statement(s) is/are true?

A. Speed of x m/sec is equal to x% kmv/hr.

B. If a train runs at é of its usual speed, it gets late by 10 minutes. The usual time of the train to
cover the journey is 40 minutes.

C. A car moves at the speed of 80 Km/hr. The speed of the car in meters per second is 22 %

D. A person crosses a 600 m long street in 5 minutes. The speed of the person in Km per hour is
72

Choose the correct answer from the options given below:

1. A, B and C Only
2. Aand B Only
3.B, C and D Only
4. C and D Only

Options 1. 1
2.2
3.3
4.4

Question Type :
: 9380663983

Question ID

Option 11D :
Option 21D :
Option 31D :
: 93806615496

Status :
Chosen Option :

Option 4 ID

McQ

93806615493
93806615494
93806615495

Answered
4
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Q.14 _ ;
Which of following statements are correct?

A. Worm can be hardware and software.

B. Cookies are used to store browsing information.

C. Sandbox detection is malware identification method.
D. HTTP has better security than HTTPS.

E. Trojan is an antivirus.

Choose the correct answer from the options given below:

1. A, B and C Only
2. C and E Only
3.B and C Only

4. B and D Only
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 9380663993
Option 11D : 93806615533
Option 2 ID : 93806615534
Option 31D : 93806615535
Option 4 ID : 93806615536

Status : Answered

Chosen Option : 3

Q.15 Which of the following are four guiding principles in the development of higher education in
India?

1. Access, Authority, Equity, Equality

2. Accountability, Based on freedom, Access, Free

3. Access, Equity, Accountability, Equality

4. Assessment, Equality, Affordability, Research Oriented
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 9380664000
Option 11D : 93806615561
Option 2 1D : 93806615562
Option 31D : 93806615563
Option 4 1D : 93806615564

Status : Answered
Chosen Option : 3
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Q.16 Criteria for Hypotheses construction are
A. Tt should describe one issue only.
B. It should describe many issues.
C. It should specify variables between which the relationship is to be established.
D. It should be specific and precise.
E. It should be empirically testable. whether it is right or wrong.
Choose the correct answer from the options given below:
1. B Only
2. A, Band C Only
3.A.C,DandE Only
4. A, B, C and D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663973
Option 11D : 93806615453
Option 2 ID : 93806615454
Option 31D : 93806615455
Option 4 ID : 93806615456
Status : Answered
Chosen Option : 3
Q.17 When a person is talking to himself/ herself or contemplating or dreaming while in sleep, then
this type of communication is known as
L. Inter-personal
2. Intra-personal
3. Inter-cultural
4. Inter-national
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663975
Option 11D : 93806615461
Option 2 1D : 93806615462
Option 31D : 93806615463
Option 4 ID : 93806615464
Status : Answered
Chosen Option : 2
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Q.18 ‘Which of the following propositions are so related that they cannot both be false, though they can

both be true?

A. Some poems are artworks.

B. All poems are artworks.

C. Some poems are not artworks.
D. Some artworks are poerns.

Choose the correct answer from the options given below:

1. Aand D Only
2. Aand C Only
3.B and C Only
4. Aand B Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663987
Option 11D : 93806615509
Option 2 1D : 93806615510
Option 31D : 93806615511
Option 4 1D : 93806615512
Status : Answered
Chosen Option : 4
Q.19 In the Buddha Period, which educational centres were established along with monasteries?
A. Ballabhi
B. Baba Mastnath University
C. Nalanda
D. Vikramshila
E. Taxila
Choose the correct answer from the options given below:
1. B, C and E Only
2.A,B,Cand D Only
3. A, C,DandE Only
4.B, D and E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664003
Option 11D : 93806615573
Option 2 ID : 93806615574
Option 31D : 93806615575
Option 4 ID : 93806615576
Status : Answered
Chosen Option : 3
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Q20 Which of the following is not considered as self- generated feedback?
. Assurance
2. Previewing
3. Retracing
4. Observation
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663966
Option 11D : 93806615425
Option 2 ID : 93806615426
Option 3 ID : 93806615427
Option 4 ID : 93806615428
Status : Answered
Chosen Option : 1
Q.21 Electrostatic Precipitator is used in Thermal Power Plants to remove which of the following air
pollutants?
L. Polycycli Aromatic Hydrocarbons
2. Gaseous Pollutants
3. Fly ash
4. Volatile Organic Compounds
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663996
Option 1 ID : 93806615545
Option 2 ID : 93806615546
Option 3 ID : 93806615547
Option 4 ID : 93806615548
Status : Answered
Chosen Option : 4
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Q.22 Which fallacy is committed in the following statement- "I can expect that you would not find any
moral issue in making abortion illegal, since your ability to feel sympathy for the rights of
women in general is very limited?

1. Begging the question
2. Ad Hominem
3. Hasty generalisation
4. Slippery slope

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663985
Option 11D : 93806615501
Option 2 ID : 93806615502
Option 31D : 93806615503
Option 4 1D : 93806615504
Status : Answered
Chosen Option: 2
Q.23 In , each communicating device is connected with every other device in the computer
network.

1. Star topology
2. Mesh topology
3. Bus topology
4. Ring topology
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380663990
Option 11D : 93806615521
Option 2 ID : 93806615522
Option 31D : 93806615523
Option 4 ID : 93806615524

Status : Answered

Chosen Option: 1
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Q.24 Arrange the following components in the context of “Effective Learning Environment™.
A. Continuous Formative Assessment
B. Adequate Students Support
C. Appropriate Curriculum
D. Engaging Pedagogy
E. Providing suitable resources and infrastructure
Choose the correct answer from the options given below:
I.E,B,A,C,D
2.B,A,C,D,E
3.C,D,A,B,E
4.A,B,C,D,E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664002
Option 11D : 93806615569
Option 2 ID : 93806615570
Option 3 ID : 93806615571
Option 4 ID : 93806615572
Status : Answered
Chosen Option: 3
Q.25 G i
Scientific Observations are based on
1. Verifiable evidence or systematic body of proof that can be cited.
2. Accumulated experiences
3. Prejudices
4. Beliefs of the people
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663971
Option 1 ID : 93806615445
Option 2 ID : 93806615446
Option 3 ID : 93806615447
Option 4 ID : 93806615448
Status : Answered
Chosen Option: 1
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Q.26 pfatch the LISTI with LIST-IT

LIST-I LIST-II
(Types of water pollutant) (Example)
A.|Disease Causing Agent 1. |Fine particles of clay
B.|Oxygen Consuming Waste II. [Coliform Bacteria
C.|Plant Nutrient TII. | Animals and Plants in aquatic habitat
D. | Suspended Solids IV. [Phosphorous

Choose the correct answer from the options given below:

1. AL BAIIL C-L, D-IV
2. AL B-III, C-IV, D-I
3. AL BIL CIIL DIV
4. A1, B-IL C-1V, D-III

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663997
Option 11D : 93806615549
Option 2 1D : 93806615550
Option 31D : 93806615551
Option 4 1D : 93806615552
Status : Answered
Chosen Option: 2
Q.27

Which of the following statements are logically equivalent?

A. No soaps are writing-tools.
B. All soaps are non-writing-tools.
C. No non-writing-tools are soaps.
D. No writing-tools are soaps.

Choose the correct answer from the options given below:

1. Aand D Only
2. A, B and D Only
3. B and C Only
4. Aand C Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380663986
Option 1 ID : 93806615505
Option 2 ID : 93806615506
Option 3 ID : 93806615507
Option 4 ID : 93806615508

Status : Answered

Chosen Option : 2
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Q.28 The interest earned on ¥ 8000 when invested in some scheme for 2 years at 7 % simple interest,
per annum is half of the interest earned on another amount P invested for five years in the same
scheme at the same rate of interest. Find the value of P.

1.Z6200
2.26000
3.36400
4. 25000

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380663982
Option 11D : 93806615489
Option 2 ID : 93806615490
Option 31D : 93806615491
Option 4 ID : 93806615492

Status : Answered

Chosen Option: 3

Q29 paich the LIST-T with LIST-TT

LIST-I LIST-II
(Waste water treatment process) (Expl ion)
A.|Ozonation I. |[Removal of excess ion and manganese
B.|Aeration II. |Removal of large solids
C.|Flocullation III. | Disinfection
1. | Serecaiitig v Very small particles are clustered
together

Choose the correct answer from the options given below:

1. A-IMI, B-1, C-IV, D-TI

2. AL, B-1, C-II, D-IV

3. AL B, C-11, D-IV

4. A-IV, B-11, C-111, D-1
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Question ID : 9380663998
Option 1 ID : 93806615553
Option 2 ID : 93806615554
Option 3 ID : 93806615555
Option 4 ID : 93806615556

Status : Answered

Chosen Option : 1
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.30 What among the following are known as Assessment Instruments?
A. Tests
B. Examinations
C. Rubrics
D. Worksheets
E. Quizzes
Choose the correct answer from the options given below:
1. A, B and E Only
2.B,C,Dand E Only
3.Dand E Only
4. A, B,D and E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663968
Option 11D : 93806615433
Option 2 ID : 93806615434
Option 31D : 93806615435
Option 4 ID : 93806615436
Status : Answered
Chosen Option : 4
Q.31 If the sender has not formulated the idea, thought or message in proper manner, it can result into a
barrier in communication. The barrier occurs at what level?
1. Transmission stage
2. At the end of the decoder
3. At the level of the encoder
4. Technical stage
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663976
Option 1 ID : 93806615465
Option 2 ID : 93806615466
Option 31D : 93806615467
Option 4 1D : 93806615468
Status : Answered
Chosen Option: 2
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Q32 Match the LISTX with LIST-IT
LIST-I LIST-II
(Recognition System) (Application)
A |MICR I. |Reading the car number plates
Capturing product information so that it
B.[OCR II. |can be added to the customer's purchase
total
c.lomr 1L Reading the numbers found on a bank
cheque
D.| Barcode Reader v Reading mark.s Wntta.en using pencil or
pen on a specially printed paper.
Choose the correct answer from the options given below:
1. A-IV, B-I, C-IIL, D-TI
2. A-1L, B-L, C-IV, D-III
3. AL BV, C-L, D-II
4. A-IIT, B-1, C-IV, D-II
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663994
Option 11D : 93806615537
Option 2 ID : 93806615538
Option 3 ID : 93806615539
Option 4 ID : 93806615540
Status : Answered
Chosen Option : 4
Q33 Match the LIST with LIST-IT
LIST-I LIST-II
(Principle) (Implication)
A Encouraging student's deep approaches I Feed back should be embedded within
“| to learning objectives " |assessment practices.
B The summative and formative I Task design should be approached from
"| assessments to be learning oriented " |a program-wide perspective.
C.|Facilitating dialogic forms of feed back |[III. | Greater sense of ownership by students
D Involving some personal student v A variety of assessment for student
"| investment " |motivation.
Choose the correct answer from the options given below:
1. AL B-IL C-IIL, D-IV
2. AL B-IV, C-1, D-III
3. A-IV, B-II, C-11, D-I
4. A-IIT, B-1, C-IT, D-IV
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663969
Option 1 ID : 93806615437
Option 2 ID : 93806615438
Option 3 ID : 93806615439
Option 4 ID : 93806615440
Status : Answered
Chosen Option : 2
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Q34 4 person takes a loan of T 5000 at 5% simple interest. He returns ¥ 3000 at the end of one year.
How much he would have to pay, in order to clear his dues, at the end of 2 years?

1.3 2450
2.% 2500
3.%2350
4.7 2400
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Question ID : 9380663984
Option 11D : 93806615497
Option 2 ID : 93806615498
Option 31D : 93806615499
Option 4 1D : 93806615500
Status : Answered
Chosen Option : 1

Q.35 ‘What is the correct sequence, from initial to final, of blue baby disease, methemoglobinemia, in
human infants?

A. Conversion of nitrate ions to nitrite ions by microorganisms in human body
B. Oxidation of ions from Fe(II) to Fe(III) in hemoglobin by nitrite ions.

C. Consumption of nitrate polluted water

D. Forming of abnormal hemoglobin called methemoglobin

Choose the correct answer from the options given below:

C,B,A,D
LA, B,

.D,B,
C.B

ond

{E
2.
3.
4.

>0

3. Mt Ly

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380663995
Option 11D : 93806615541
Option 2 ID : 93806615542
Option 31D : 93806615543
Option 4 ID : 93806615544
Status : Answered
Chosen Option : 2
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Q36 14 4 certain code language “GERMANY" is coded as 9. 7, 20, 15. 3, 16, 27. How ‘FRANCE® will
be coded in this language?

1.7,19,2,15,4,6
2.8,20,30,16,5,7
3.8,20,3,16,5,7
4.6,18.1,14,3,5

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 9380663981
Option 11D : 93806615485
Option 2 ID : 93806615486
Option 31D : 93806615487
Option 4 1D : 93806615488

Status : Answered

Chosen Option: 3

Q37 Match the LIST-T with LIST-TT

LIST-I LIST-IT
(Films) (Year of release)
A.|Mugle Azam L (1975
B.|Sholay . | 1973
C.|Bobby II1. | 1989
D.|Maine Pyar Kiya IV.| 1960

Choose the correct answer from the options given below:

1. A-L, B-IL, C-TIL, D-IV
2. A1V, B-L C-II, D-III
3. AV, BIIL C-IL DI
4. AL BAIL C-TV, DI

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380663979
Option 11D : 93806615477
Option 2 1D : 93806615478
Option 31D : 93806615479
Option 4 ID : 93806615480

Status : Answered

Chosen Option : 2
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Q.38

What among the following are some media organisations?

A. Registrar of Newspaper for India (RNI)

B. National Institute of Fashion Technology (NIFT)

C. The Press Council of India (PCI)

D. Audit Bureau of Circulation Ltd (ABC)

E. University School of Mass Communication (USMC)

Choose the correct answer from the options given below:

1. B and E Only
2. A and B Only
3. A, Cand D Only
4. A, B and C Only
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380663978
Option 11D : 93806615473
Option 2 ID : 93806615474
Option 31D : 93806615475
Option 4 ID : 93806615476

Status : Answered

Chosen Option : 3

Q39 Match the LIST-T with LIST-TT

LIST-1 LIST-II
(Author) (Area)
A |Sankara I. | Vedanta Sutras
B.|Ramanuja II. | Algebra and Astronomy
C.|Vidyapati I1I. | Dialect of Behar
D.|Bhaskara IV.|Vedanta Sutras and the Bhagavatgita

Choose the correct answer from the options given below:

1. A, B-IL C-IIL, D-IV
2. A1V, B-L C-IIL, D-II
3. AV, BIIL C-IL DI
4. A-, B-II, C-IV, D-II

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664004
Option 11D : 93806615577
Option 2 1D : 93806615578
Option 31D : 93806615579
Option 4 1D : 93806615580

Status : Answered

Chosen Option: 1
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Q.40

"The world is an effect and hence it must have an efficient and intelligent cause. That efficient
and intelligent cause is God." Which means of knowledge is used in this argument as per classical
Indian School of Logic (Nyaya)?

1. Perception

2. Inference

3. Analogy

4. Verbal authority

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663989
Option 11D : 93806615517
Option 2 1D : 93806615518
Option 31D : 93806615519
Option 4 1D : 93806615520
Status : Answered
Chosen Option: 2
o4 The role of a teacher in supporting experiential learning can't be of a/ the
1. Coach
2. Mentor
3. Tutor
4. Technology
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663965
Option 11D : 93806615421
Option 2 ID : 93806615422
Option 31D : 93806615423
Option 4 ID : 93806615424
Status : Answered
Chosen Option: 3
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Q.42 What is the correct increasing order of U-235 (fissile uranium) ratio in following?
A. Natural Uranium
B. Uranium Ore
C. Weapon grade uranium
D. Reactor grade uranium
Choose the correct answer from the options given below:
1.B,A,C.D
2.B.A.D.C
3.D.C,A.B
4.D.C, B A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663999
Option 1 1D : 93806615557
Option 2 ID : 93806615558
Option 3 ID : 93806615559
Option 4 ID : 93806615560
Status : Answered
Chosen Option : 2
Q.43 Arrange the level of Bloom's Taxonomy from lower to higher order in the cognitive domain
A. Analyzing
B. Understanding
C. Applying
D. Evaluating
E. Remembering
Choose the correct answer from the options given below:
1.B,E.C,A,D
2.E;B,C;A, D
3.E,B,C,D,A
4.E,B.D,A,C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663967
Option 11D : 93806615429
Option 2 ID : 93806615430
Option 31D : 93806615431
Option 4 ID : 93806615432
Status : Answered
Chosen Option : 2
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Q.44

Identify the sequence of appropriate words A-D that correctly fills the blanks in the following

paragraph:
Radio Identification Systems use radio waves to read and capture information stored on a
tag, which can be read from several metres away. The is made up of a(n) to store
and process data, and a(n) to receive and transmit data.
A. tag
B. frequency
C. antenna
D. microchip
Choose the correct answer from the options given below:
1.B,D,A, C
2.C,A,D,B
3.B,A,D,C
4.A,C.B.D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663992
Option 11D : 93806615529
Option 2 1D : 93806615530
Option 3 1D : 93806615531
Option 4 1D : 93806615532
Status : Answered
Chosen Option: 1
Q.45 As of February 28, 2025, write the highest grossing Indian films starting from highest grossing to
the lowest grossing.
A. Bahubali-2
B.RRR
C. Pushpa-2
D. KGF- Chapter 2
E. Dangal
Choose the correct answer from the options given below:
1.E,A,C,B,D
2.A,B,C,D,E
3.B,A,D,E,C
4.D,B.C,A,E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380663977
Option 11D : 93806615469
Option 2 1D : 93806615470
Option 3 1D : 93806615471
Option 4 1D : 93806615472
Status : Answered
Chosen Option : 4
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Comprehension:

Read the following passage carefully and answer the questions:

The capitalist system of society does not foster healthy relations among human beings. A few
people own all the means of production and others-though nominally few have to sell their labour
under conditions imposed upon them. The emphasis of capitalism being on the supreme
importance of material wealth the intensity of its appeal is to the acquisitive intensity. It promotes
worship of economic power with little regard to the means employed for its acquisition and the
end that it serves. By its exploitation of human beings to the limits of endurance its concentration
1s on the largest profit rather than maximum production.

Thus the division of human family is done on the basis of economic circumstances. All this is
injurious to division of human dignity. And when the harrowed poor turn to the founders of
religion for succour, they rather offer a subtle defence of the established order. They promise
future happiness for their present suffering and conjure up visions of paradise to redress the
balance to soothe the suffering and the revolt of the tortured men. The system imposes injustice,
the religion justifies it.

SubQuestion No : 46

Q.46 T
In a capitalist system,

1. the ends justify the means

2. the means justify the ends

3. the means leading to exploitation are strictly prohibited
4. the religion decides the issue related to the means
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 9380664008
Option 11D : 93806615589
Option 2 1D : 93806615590
Option 31D : 93806615591
Option 4 1D : 93806615592

Status : Answered
Chosen Option : 1
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Comprehension:

Read the following passage carefully and answer the questions:

The capitalist system of society does not foster healthy relations among human beings. A few
people own all the means of production and others-though nominally few have to sell their labour
under conditions imposed upon them. The emphasis of capitalism being on the supreme
importance of material wealth the intensity of its appeal is to the acquisitive intensity. It promotes
worship of economic power with little regard to the means employed for its acquisition and the
end that it serves. By its exploitation of human beings to the limits of endurance its concentration
1s on the largest profit rather than maximum production.

Thus the division of human family is done on the basis of economic circumstances. All this is
injurious to division of human dignity. And when the harrowed poor turn to the founders of
religion for succour, they rather offer a subtle defence of the established order. They promise
future happiness for their present suffering and conjure up visions of paradise to redress the
balance to soothe the suffering and the revolt of the tortured men. The system imposes injustice,
the religion justifies it.

SubQuestion No : 47

Q.47 o
The capitalist system focuses on

1. Maximum production

2. Unusual benefits

3. Investment on human resources
4. Reduction of expenditure

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664010
Option 11D : 93806615597
Option 2 1D : 93806615598
Option 31D : 93806615599
Option 4 1D : 93806615600

Status : Answered

Chosen Option : 2
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Comprehension:

Read the following passage carefully and answer the questions:

The capitalist system of society does not foster healthy relations among human beings. A few
people own all the means of production and others-though nominally few have to sell their labour
under conditions imposed upon them. The emphasis of capitalism being on the supreme
importance of material wealth the intensity of its appeal is to the acquisitive intensity. It promotes
worship of economic power with little regard to the means employed for its acquisition and the
end that it serves. By its exploitation of human beings to the limits of endurance its concentration
1s on the largest profit rather than maximum production.

Thus the division of human family is done on the basis of economic circumstances. All this is
injurious to division of human dignity. And when the harrowed poor turn to the founders of
religion for succour, they rather offer a subtle defence of the established order. They promise
future happiness for their present suffering and conjure up visions of paradise to redress the
balance to soothe the suffering and the revolt of the tortured men. The system imposes injustice,
the religion justifies it.

SubQuestion No : 48
Q.48 After going through the passage, it can be inferred that the capitalist system is

1. Ambitious
2. Biased

3. Humane
4. Realistic

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664006
Option 11D : 93806615581
Option 2 ID : 93806615582
Option 31D : 93806615583
Option 4 1D : 93806615584

Status : Answered
Chosen Option : 2
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Comprehension:

Read the following passage carefully and answer the questions:

The capitalist system of society does not foster healthy relations among human beings. A few
people own all the means of production and others-though nominally few have to sell their labour
under conditions imposed upon them. The emphasis of capitalism being on the supreme
importance of material wealth the intensity of its appeal is to the acquisitive intensity. It promotes
worship of economic power with little regard to the means employed for its acquisition and the
end that it serves. By its exploitation of human beings to the limits of endurance its concentration
1s on the largest profit rather than maximum production.

Thus the division of human family is done on the basis of economic circumstances. All this is
injurious to division of human dignity. And when the harrowed poor turn to the founders of
religion for succour, they rather offer a subtle defence of the established order. They promise
future happiness for their present suffering and conjure up visions of paradise to redress the
balance to soothe the suffering and the revolt of the tortured men. The system imposes injustice,
the religion justifies it.

SubQuestion No : 49

Q.49 Capitalism is detrimental to equality as it divides the society into the groups, namely,

1. Working and non-working
2. Buyers and Sellers

3. Exploiters and Exploited
4. Religious and Atheist

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664009
Option 11D : 93806615593
Option 2 ID : 93806615594
Option 31D : 93806615595
Option 4 1D : 93806615596

Status : Answered

Chosen Option : 3
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Comprehension:

Read the following passage carefully and answer the questions:

The capitalist system of society does not foster healthy relations among human beings. A few
people own all the means of production and others-though nominally few have to sell their labour
under conditions imposed upon them. The emphasis of capitalism being on the supreme
importance of material wealth the intensity of its appeal is to the acquisitive intensity. It promotes
worship of economic power with little regard to the means employed for its acquisition and the
end that it serves. By its exploitation of human beings to the limits of endurance its concentration
1s on the largest profit rather than maximum production.

Thus the division of human family is done on the basis of economic circumstances. All this is
injurious to division of human dignity. And when the harrowed poor turn to the founders of
religion for succour, they rather offer a subtle defence of the established order. They promise
future happiness for their present suffering and conjure up visions of paradise to redress the
balance to soothe the suffering and the revolt of the tortured men. The system imposes injustice,
the religion justifies it.

SubQuestion No : 50

20 The maximum control over the means of production is under
1. All the stake holders
2. Proletarial class
3. Owners of the system
4. Working class
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
9380664007
93806615585
93806615586
93806615587
93806615588
Answered

3
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Q.51 Gy 5 ¥ 8 : :
Which is NOT a characteristic of narrative research design?
1. Individual experiences
2. Collecting data through rating scale
3. Coding and decoding for themes
4. Collaborating with participants
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664034
Option 11D : 93806615693
Option 2 ID : 93806615694
Option 3 ID : 93806615695
Option 4 ID : 93806615696
Status : Answered
Chosen Option : 2
Q.52 ‘In order to achieve mastery of a problem, we must receive feedback as to how we are doing™.
This statement is related to which principle of Bruner.
1. First Principle
2. Second Principle
3. Third Principle
4. Fourth Principle
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664020
Option 1 ID : 93806615637
Option 2 ID : 93806615638
Option 3 ID : 93806615639
Option 4 ID : 93806615640
Status : Answered
Chosen Option : 3
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Q.53 Match the LIST-I with LIST-TT

LIST-I LIST-IT
Platform for MOOC Founder
A.|Udacity I Eren Bali, Gagan Biyani and Oktay
Caglar
B.|Coursera II. |Harvard University and MIT
C.|Udemy III. | Daphne Koller and Andrew Ng
D.|edX IV. | Sebastian Thrun

Choose the correct answer from the options given below:

ILLAIMIBIVCIDII
2.AIVBICHIDII
3.AIVBIICIIDI
4 AIVBIICIDII

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664097
Option 11D : 93806615945
Option 2 ID : 93806615946
Option 31D : 93806615947
Option 4 1D : 93806615948

Status : Answered

Chosen Option : 4

Q.54 Match the LIST-I with LIST-IT

LIST-I LIST-II

alohiana L To cut the relationship (?f various sense
organs from the respective subjects

B.|Pratyahar I To i_zpply the mind to some internal
subject

C.|Dhyan III. | Dhyan becomes stable in Dhyeya

D.| samadnhi v To cloncentra:w attention on a particular
subject of mind

Choose the correct answer from the options given below:

LLAMIBICIVDII
2ZADBIICIVDI
3.LADBICIVDII
4. AIIBIVCIDI

Options 1. 1
2.2
3, 8
4.4

Question Type : MCQ
Question ID : 9380664087
Option 11D : 93806615905
Option 2 ID : 93806615906
Option 31D : 93806615907
Option 4 1D : 93806615908

Status : Answered

Chosen Option : 3
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Q.55 Which of the following theoretical perspective mainly emphasizes on hidden curriculum and
credentialism?

1. Functionalist
2. Interactionist
3. Conflict
4. Feminist
Options 1. 1
2.2
BN

4.4

Question Type : MCQ
Question ID : 9380664011
Option 11D : 93806615601
Option 2 1D : 93806615602
Option 31D : 93806615603
Option 4 ID : 93806615604

Status : Answered

Chosen Option : 2

Q.56 Which of the following model of interaction analysis assumes that non-verbal communication
can be more effective during interaction in classroom?

L. Flanders' Interaction Analysis
2.R. H. Dave

3. Charles Galloway

4. Malcolm Knowles

Options 1. 1

2.2

8. 8

4.4

Question Type : MCQ
Question ID : 9380664037
Option 11D : 93806615705
Option 2 1D : 93806615706
Option 31D : 93806615707
Option 4 1D : 93806615708

Status : Answered

Chosen Option : 3
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Q.57 National Curriculum Framework for Integrated Teacher Education Programme in India (2023)
was developed by
L. NCERT
2.NCTE
3.UGC
4. AICTE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664023
Option 1 ID : 93806615649
Option 2 ID : 93806615650
Option 3 ID : 93806615651
Option 4 ID : 93806615652
Status : Answered
Chosen Option : 2
Q.58 ‘Who has given Fourth Generation Instructional System Development Model (ISD) to represent
complexity of educational technology?
L. Robert Tennyson (1995)
2. Spector (2005)
3. Hartley and Colleagues (2010)
4. David Merrill (2007)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664039
Option 11D : 93806615713
Option 2 1D : 93806615714
Option 31D : 93806615715
Option 4 ID : 93806615716
Status : Answered
Chosen Option : 4
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Q.59 ; : : 3 5 :
Which of the following education thinker emphasized on “Care Ethics™?
1. Paulo Freire
2. J. Krishnamurthy
3. Wollstonecraft
4. Nel Noddings
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664012
Option 1 ID : 93806615605
Option 2 ID : 93806615606
Option 3 ID : 93806615607
Option 4 ID : 93806615608
Status : Answered
Chosen Option : 4
Q.60 ‘Which of the following are the essential characteristics of good research hypothesis?
A Tt should be clear and precise.
B. It should be testable.
C. It should be based on ethical consideration.
D. It should be stated in general terms without specifics.
E. It should indicate a relationship between variables.
Choose the correct answer from the options given below:
I.A, B,E Only
2.C,B,AOnly
3.A,D, COnly
4. C,D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664076
Option 11D : 93806615861
Option 2 ID : 93806615862
Option 3 1D : 93806615863
Option 4 ID : 93806615864
Status : Answered
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Arrange the given in chronological order.

A. Indian National Satellite (INSAT)

B. Centre for Educational Technology (CET)

C. Computer Literacy and Studies (CLASS)

D. Satellite Instructional Television Experiment (SITE)
E. SWAYAM

Choose the correct answer from the options given below:

LBC.DEA
2D,B,E.C A
3. . B AL E
4D,B,CAE
Options 1. 1
2.2
3, 8
4.4

Q.61 Arrange the following steps in the correct sequence for conducting educational research.
A. Review of related research and literature
B. Data collection
C. Formulation of hypothesis
D. Data analysis and interpretation
E. Identifying the research problem
Choose the correct answer from the options given below:
L-E A € B, 1)
2.A,C,D,B,E
3.C,A.E,D.B
4.B,C.D.E. A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664057
Option 11D : 93806615785
Option 2 1D : 93806615786
Option 31D : 93806615787
Option 4 1D : 93806615788
Status : Answered
Chosen Option : 1
Q.62

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

MCQ
9380664061
93806615801
93806615802
93806615803
93806615804
Answered

1
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Q.63

Which of these statements does NOT describe snowball sampling correctly?

A. It is a non-probability sampling technique.

B. It is used when the target population is readily available.

C. Initial participants refer others to take part in the study.

D. It ensures equal chance of selection for all individuals.

E. It is commonly used in sociological and qualitative research.

Choose the correct answer from the options given below:

1. Aand E Only
2.B and D Only
3. Aand C Only
4. B and E Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664072
Option 11D : 93806615845
Option 2 1D : 93806615846
Option 31D : 93806615847
Option 4 1D : 93806615848

Status : Answered

Chosen Option : 2

Q.64 ‘Who stated “Curriculum is a plan or programme for all experiences which the learner encounters
under the direction of the school.”

1. Oliva
2. Carter V. Good
3. Tyler and Hild Taba
4. Galen Saylor
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Question ID : 9380664027
Option 11D : 93806615665
Option 2 1D : 93806615666
Option 31D : 93806615667
Option 4 1D : 93806615668

Status : Answered

Chosen Option: 3
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Q.65 Which of the following document does not advocate for inclusive education?
1. National Policy on Disability, 2006
2. Right to Education Act, 2009
3. Rights of Person with Disabilities Act, 2016
4. National Education Policy, 2020
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664048
Option 1 ID : 93806615749
Option 2 ID : 93806615750
Option 31D : 93806615751
Option 4 ID : 93806615752
Status : Answered
Chosen Option: 3
Q.66 ] )
Arrange the follwoing steps of SWOT analysis
A. Develop strategic actions
B. Prioritize key-factors
C. Analyse external factors
D. Implement and monitor changes
E. Brainstorm and list factors
Choose the correct answer from the options given below:
LB, A, D, BC
2.C,B. A E
3.EB,Coh. BB
4 A D EC.B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664063
Option 11D : 93806615809
Option 2 ID : 93806615810
Option 31D : 93806615811
Option 4 ID : 93806615812
Status : Answered
Chosen Option : 3
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Q.67 Which designs are systematic, qualitative procedures that researchers use to generate a general
explanation and it leads to process, action or interaction among people?
1. Ethnographic designs
2. Grounded theory designs
3. Narrative research designs
4. Correlational designs
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664032
Option 11D : 93806615685
Option 2 ID : 93806615686
Option 31D : 93806615687
Option 4 ID : 93806615688
Status : Answered
Chosen Option: 1
Q.68 Match the LIST-I with LIST-IT
LIST-I LIST-II
A.|Pre-experimental design L. 5;;[;12 Sﬁ{?ﬁ?&ﬁz;ﬁ;ﬁ;ﬂ z?dent
B.| True-experimental design II. [Lack of randomization and control group
C.|Quasi-experimental design 1. Eiﬁpﬁ;?:;;ﬁg?;u‘?;;ﬁ?; ot
D.| Factorial design v i.oaﬁtli :lf randomization but includes some
Choose the correct answer from the options given below:
ILAIBOCIVDII
22AIIBICIVDII
3. ATMMBIICIVDI
4. AIVBIICIIDI
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664095
Option 11D : 93806615937
Option 2 ID : 93806615938
Option 31D : 93806615939
Option 4 ID : 93806615940
Status : Answered
Chosen Option : 2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaiM

7

GET IT ON

Google Play

Q.69 Match the LIST-I with LIST-IT

LIST-I LIST-II

Assigning logical or socially desirable
motives to what we do so that we seem
to have acted rationally.

A.|Repression I

Excluding from conscious awareness
impulses or memories that are too
frightening or painful.

B.|Rationalization 1L

Assigning our own undesirable qualities

C.|Reaction F ti L. :
e to others in exaggerated amounts.

Concealing a motive from ourselves by
giving strong expression to  the
opposite motive.

D.|Projection Iv.

Choose the correct answer from the options given below:

ILLAIMIBIVCIDII
2.AIVBIOICIIDI
3.AIBOCIIDIV
4 ATBICIVDII

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664090
Option 11D : 93806615917
Option 2 ID : 93806615918
Option 31D : 93806615919
Option 4 ID : 93806615920
Status : Answered
Chosen Option : 4
Q.70 ‘Which are the main objectives of in-service education for teachers?
A. To provide finaneial incentive to the teachers.
B. To help teachers to know their problems and to solve by pooling their resources and wisdom.
C. To broaden the mental outlook of teachers.
D. To increase the professional efficiency of the teacher.
E. To provide the facility away from the place of duty.
Choose the correct answer from the options given below:
1.A.E,DOnly
2.A, B, C Only
3.B,C.D Only
4.C,D,E Only
Options 1. 1
2.2
8. &
4.4
Question Type : MCQ
Question ID : 9380664073
Option 11D : 93806615849
Option 2 ID : 93806615850
Option 3 ID : 93806615851
Option 4 ID : 93806615852
Status : Answered
Chosen Option : 3
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Q.71 Which of the following statements related to learning theory approach to counselling are
INCORRECT?
A. Dollard & Miller relates psyhoanalytic methods to reinforcement learning theory.
B. Counselling, according to Pepinskys, aims to strengthen the counselle’s behaviour.
C. Eysenck refers to conditioning methods in counselling as “behaviour theraphy*
D. Irrational behaviour is learned and it cannot be changed through learning or relearning.
E. According to Pepinskys, the ‘cultural context’ does not provide conditions assumed to be
antecedent to subsequent learning.
Choose the correct answer from the options given below:
1. Aand C Only
2.Band C Only
3.B and D Only
4. C and E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664070
Option 11D : 93806615837
Option 2 ID : 93806615838
Option 3 ID : 93806615839
Option 4 ID : 93806615840
Status : Answered
Chosen Option : 3
Q.72 i ST
Arrange the follwoing four positions of soul from first to fourth.
A. Jagrat
B. Turiya
C. Swapna
D. Pragya
Choose the correct answer from the options given below:
1. B, A, DiE
2.C,A.D.B
L.D.C.R.A
4.A.C,D,.B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664051
Option 11D : 93806615761
Option 2 1D : 93806615762
Option 31D : 93806615763
Option 4 1D : 93806615764
Status : Answered
Chosen Option : 3
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Q.73 Which of the following is NOT true about the ‘Programme Evaluation and Review Technique
(PERT):

1. It is a network model.

2. It is a project management tool.
3. It is a statistical tool.

4. It is a process-oriented technique.

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664045
Option 11D : 93806615737
Option 2 ID : 93806615738
Option 31D : 93806615739
Option 4 1D : 93806615740
Status : Answered
Chosen Option: 3
Q.74

Which of the following is NOT a part of formal step of “Syntax™ of Herbertian Approach?

1. Presentation

2. Comparison and Abstraction
3. Preparation

4. Focus

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 9380664036
Option 11D : 93806615701
Option 2 ID : 93806615702
Option 31D : 93806615703
Option 4 ID : 93806615704

Status : Answered

Chosen Option : 2
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Q.75 Match List I with List II: CIPP model of curriculum development

LIST-I

LIST-II

A.|Context

To determine the curriculum is
accomplish the intended goals.

B.|Input

IL

To address curriculum implementation
decision that control and manage the plan
of curriculum.

C.|Process

1II.

To provide information for determining
how to utilize resources to meet
curriculum goals.

D.|Product

Iv.

To study the environment of curriculum
implementation

ILLAIBIOCIIDIV
22AMBOCIDIV
3.ATIBICIVDII
4. AIVBIHICIIDI

Choose the correct answer from the options given below:

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664093
Option 11D : 93806615929
Option 2 1D : 93806615930
Option 31D : 93806615931
Option 4 1D : 93806615932
Status : Answered
Chosen Option : 4
Q.76 For the implementation of Programme of Action (PoA, 1992), how many task forces were
constituted on different subjects?
1.20
2.21
3.22
4.24
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664016
Option 11D : 93806615621
Option 2 1D : 93806615622
Option 31D : 93806615623
Option 4 1D : 93806615624
Status : Answered
Chosen Option : 3
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Q.77 Match List I with List IT

ListI List IT
Statement Thinkers

This education ought to be for them a
*| kind of insurance against unemployment.

I. |R.N.Tagore

You cannot teach a child anymore than
B.|you can grow a plant. The plant develops | IL. | Sri Aurbindo
its own nature.

Every child is an inquirer, an
C.|investigator, analyser, a merciless III. |M K. Gandhi
anatomist.

True education consists in knowing the
use of any useful material that has been
D.|collected to know its real nature and to  |IV. [Swami Vivekananda
build along with life a real shelter for
life.

Choose the correct answer from the options given below:

LLAIVBIICIDII
2.ANIBIVCIIDI
3.LAIIBIVCIDII
4. ATVBICII D II

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664086
Option 11D : 93806615901
Option 2 ID : 93806615902
Option 31D : 93806615903
Option 4 ID : 93806615904

Status : Answered

Chosen Option : 2

Q.78 Which Commission observed that “one of the most useful methods of enriching rural life is to
locate educational institutions in rural areas™?

1. Secondary Education Commission, 1952-53
2. Kothari Commission, 1964-66
3. National Commission on Teachers, 1999
4. University Education Commission, 1948
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Question ID : 9380664017
Option 11D : 93806615625
Option 2 1D : 93806615626
Option 31D : 93806615627
Option 4 1D : 93806615628

Status : Answered

Chosen Option: 2
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Q.79 Which of the following is NOT true about constructivism theory of instructional design?

—

. Learning is more a matter of going from the inside out

2. Learner actively imposes organization and meaning on the surrounding environment and
constructs knowledge in this process.

3. Learner receives information from environment, transforms it in many ways and acquires
knowledge that is subsequently stored in memory.

4. Constructivism has been felt keenly in the world, partly because it seems to contrast with

other foundations such as information processing and Gagne’s theories.

Options 1. 1
2.2
3. 3
4.4
Question Type : MCQ
Question ID : 9380664041
Option 11D : 93806615721
Option 2 ID : 93806615722
Option 3 ID : 93806615723
Option 4 ID : 93806615724
Status : Answered
Chosen Option : 4
Q.80 ¢ i ; &
Arrange the given stages of reflection to write good reflective journal:
A. Feelings
B. Description
C. Action Plan
D. Evaluation
E. Conclusion
Choose the correct answer from the options given below:
1.B,A,D.E,C
2.C,A,B,D,E
3.A,.C,D,B.E
4. C,B,A,D,E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664060
Option 11D : 93806615797
Option 21D : 93806615798
Option 31D : 93806615799
Option 4 ID : 93806615800
Status : Answered
Chosen Option : 2
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Q.81 Which of the follwoing is “True* about Portfolio?
A. Portfolio contains an index or map
B. Portfolio contains a collection of selected, illustrative material drawn from practice and
providing evidence of it.
C. Portfolio generally contains reasonably low validity and very high reliabilty
D. Portfolio contains commentary discussing the evidence
Choose the correct answer from the options given below:
1.A, C,D Only
2.B,C,D Only
3.A.B, C Only
4. A, B, D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664078
Option 11D : 93806615869
Option 2 ID : 93806615870
Option 31D : 93806615871
Option 4 ID : 93806615872
Status : Answered
Chosen Option : 4
Q.82 . + : 2
Which of the following are salient features of Zero-Base-Budgeting (ZBB)?
A. Adaptability is necessary.
B. It considers an incremental approach.
C. Decision making units need not to be identified.
D. It considers ‘choice and withdrawal’.
E. Management hierarchy is not a component.
Choose the correct answer from the options given below:
1. A and D Only
2. Aand B Only
3.B and C Only
4. C and E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664069
Option 11D : 93806615833
Option 2 ID : 93806615834
Option 3 ID : 93806615835
Option 4 ID : 93806615836
Status : Answered
Chosen Option : 2
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Q.83 Match List I with List II: Match models of curriculum evaluation with establishment year.

LIST-1 LIST-II
Curriculum Development Model Year
A.| Tylers model I 1959
B. | States model 1. [ 1991
C.|Scriven model III. 1949
D.|Krikpatrick model IV.| 1967

Choose the correct answer from the options given below:

LLATIBICIIDIV
2.AIVBIICIDII
3JLAMBIVCIIDI
4. AIBIICIVDI

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664094
Option 1 ID : 93806615933
Option 2 ID : 93806615934
Option 3 ID : 93806615935
Option 4 ID : 93806615936
Status : Answered
Chosen Option: 2
Q.84 Which article of UNCRPD stresses the awareness raising to foster respect for the rights and
dignity against discrimination:
L. Article 7
2. Article 8
3. Article 13
4. Article 14
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664050
Option 11D : 93806615757
Option 2 ID : 93806615758
Option 31D : 93806615759
Option 4 1D : 93806615760

Status : Answered

Chosen Option : 4
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Q.85

Options 1. 1
2/2
3.3
4.4

Which are the requirements of effective curriculum transaction?

A. Review of the work in prior.

B. Material organisation as available in the school.

C. Time management .

D. Knowing, observing and understanding children at all times.
E. Individual responsibility.

Choose the most appropriate answer from the options given below:

1. A, B, C,D Only
2. A, C,E Only
3.E,.C.AOnly
4. B, C, E Only

Question Type : MCQ
Question ID : 9380664075
Option 11D : 93806615857
Option 2 1D : 93806615858
Option 31D : 93806615859
Option 4 1D : 93806615860

Status : Answered

Chosen Option: 1

Options 1. 1
2.2
3.3
4.4

Q.86 Tyler’s model of curriculum evaluation obtains the curriculum objectives from following three
sources:

1. The student, the society, the subject matter

2. Curriculum, syllabus, course book

3. The teacher, the institute, the Government

4. Course content, teaching method, evaluation strategy

Question Type : MCQ
Question ID : 9380664029
Option 11D : 93806615673
Option 2 1D : 93806615674
Option 31D : 93806615675
Option 4 1D : 93806615676

Status : Answered

Chosen Option : 4
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Q.87 Jerome Bruner's method of concept attainment has been shaped into a model of teaching by:

L. David P. Ausubel

2. Robert Glaser

3. Bruce Joyce and Marsha Weil
4. Saylor and Alexander

Options 1. 1
2.2
3, 3
4.4
Question Type : MCQ
Question ID : 9380664028
Option 11D : 93806615669
Option 2 1D : 93806615670
Option 31D : 93806615671
Option 4 ID : 93806615672
Status : Answered
Chosen Option: 1
Q.88

Identify correct statements:

A. LMX theory is dyadic theory of leadership

B. Variable-value is a type of Poka-Yoke methods.

C. Six-sigma techniques are used basically in martial arts.

D. C. K. Prahlad highlighted the untapped market potential of the world’s poorest popultions.
E. Fiedler’s contingency theory advocates that there is always one best style of leadership.

Choose the correct answer from the options given below:

1. A& D Only
2. A& COnly
3.B & E Only
4.B & D Ounly

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664082
Option 1 ID : 93806615885
Option 2 ID : 93806615886
Option 3 ID : 93806615887
Option 4 ID : 93806615888

Status : Answered

Chosen Option : 1
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Q.89 Flander’s Interaction Analysis Category System (FIACS) consists of 10 categories (from 1-10).
Arrange the given descriptors/activity of each category in increasing order.

A. Asking questions

B. Lecture

C. Accepts or use of ideas of pupil
D. Pupil talk initiation

E. Praise or encouragement

Choose the correct answer from the options given below:

1.B,C,AE,D
2.E,C,A,B,D
3CEBAD
4.D.A C.E.B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664059
Option 11D : 93806615793
Option 2 1D : 93806615794
Option 31D : 93806615795
Option 4 1D : 93806615796
Status : Answered
Chosen Option : 3
Q.90

Which does NOT come under demand factors for finance in education:

1. Demographic factors
2. Economic factors
3. Religious factors
4. Political factors
Options 1. 1
2.2
3, &
4.4

Question Type : MCQ
Question ID : 9380664018
Option 11D : 93806615629
Option 2 1D : 93806615630
Option 31D : 93806615631
Option 4 ID : 93806615632

Status : Answered

Chosen Option: 3
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.91 : : :
Q Arrange the following steps of Action Research in proper sequence:

A. Formulation of action hypothesis

B. Identification of the problem

C. Collecting data

D. Evaluation of the result of action research
E. Formulation of action design

Choose the correct answer from the options given below:

I.B.D,C,AE
2.C,D,E,A.B
3.B,A; CE, D
4.A,B,C,D.E
Options 1. 1
2.2
3, 3
4.4
Question Type : MCQ
Question ID : 9380664054
Option 11D : 93806615773
Option 2 1D : 93806615774
Option 31D : 93806615775
Option 4 1D : 93806615776
Status : Answered
Chosen Option: 3
Q.92 According to NEP-2020, which of the following recommendations are true?
A. There will be one umberella institution, the National Higher Education Regulatory Council
(NHERC).
B. There will be one independent vertical for accreditation, called the National Accreditation
Council (NAC).
C. The regulatory regime shall not encourage private philanthropic efforts in education.
D. Within 15 years, all higher educational institutions in India will aim to become independent
self-governing institutions.
E. Private higher education institutions will be empowered to set fees for their programmes
independently.
Choose the most appropriate answer from the options given below:
1. A, B, D Only
2.B,C,D Only
3.B,D. E Ouly
4.C,D, E Only
Options 1. 1
2.2
3, 3
4.4
Question Type : MCQ
Question ID : 9380664083
Option 11D : 93806615889
Option 2 1D : 93806615890
Option 3 1D : 93806615891
Option 4 1D : 93806615892
Status : Answered
Chosen Option: 1
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93 Ethical considerations in Educational Research include
A. Informed consent
B. Confidentiality of participant data
C. Manipulation of data to support hypothesis
D. Avoidance of plagiarism
E. Providing misleading information to participants
Choose the correct answer from the options given below:
1.B, C, E Only
2. A, B, D Only
3.C,A, E Only
4.E, C, A Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664077
Option 11D : 93806615865
Option 2 1D : 93806615866
Option 31D : 93806615867
Option 41D : 93806615868
Status : Answered
Chosen Option : 2
Q94 \rateh the LISTI with LIST-IT
ListI List IT
Commission and Committees Year
A.|National Commission on Teachers L |2007
B.|Yashpal Committee Report 1II. | 1999
C. |Justice Verma Committee Report III. | 2012
D.|National Knowledge Commission IV. | 2009
Choose the correct answer from the options given below:
lLAIBICIIDIV
2.AIBIICIDIV
3. AIBIICIDIV
4 AIBIVCIIDI
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664088
Option 11D : 93806615909
Option 2 1D : 93806615910
Option 31D : 93806615911
Option 4 ID : 93806615912
Status : Answered
Chosen Option : 4
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Q.95 Arrange the following keypoints of Bandura’s theory in chronological order:

A. Bandura and Walter introduced the concept of modelling behaviour through observation.

B. Bandura proposed the social learning theory, emphasizing observational learning.

C. The concept of reciprocal determinism, where personal environmental, and behaviour
factors interact.

D. The example of aggressive children demonstrating how behavioural environment influence
each other was used to explain reciprocal determinism.

Choose the correct answer from the options given below:

1.A.D,C,B
2.D.C,B.A
3.A,B,D,C
4.A,B,C,D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664053
Option 11D : 93806615769
Option 2 ID : 93806615770
Option 31D : 93806615771
Option 4 ID : 93806615772
Status : Answered
Chosen Option : 4
Q.96 Which of the following is NOT related to Soren Kierkegaard?
A. Truth is introvert and subjective.
B. The world is ideas-centred. Entire universe is only an idea.
C. Existence of individuality is reliable and it comes prior to thinking.
D. In order to find self-existence, ‘subjective experience’ and objectivity both are important.
E. Existential self-experience is necessary.
Choose the most appropriate answer from the options given below:
1. A, C.E Only
2.B, D, E Only
3.A.B.EOnly
4.B, C,E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664067
Option 11D : 93806615825
Option 2 ID : 93806615826
Option 31D : 93806615827
Option 4 ID : 93806615828
Status : Answered
Chosen Option: 1
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Q.97 ‘Which of the following is NOT a stage of follower readiness according to the situational
leadership model given by Hersey and Blanchard (1999):

1. People who are both unable and either unwilling or too insecure to take responsibility to do
something

2. People who are able but unwilling or too apprehensive to do what the leader wants.

3. People who are motivated and have appropriate required skills.

4. People who are both willing and able to take responsibility and do what is asked of them.

Options 1. 1
2.2
3.8
4.4
Question Type : MCQ
Question ID : 9380664046
Option 11D : 93806615741
Option 2 ID : 93806615742
Option 31D : 93806615743
Option 4 ID : 93806615744
Status : Answered
Chosen Option: 1
Q.98

The ‘Unfreeze-Change-Refreeze’ model of organisational development was given by:

1. Blake, Mouton & Bidwell
2. Cummings and Worley

3. Kurt Lewin

4. Michael I. Boyle

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664044
Option 11D : 93806615733
Option 2 1D : 93806615734
Option 31D : 93806615735
Option 4 ID : 93806615736

Status : Answered

Chosen Option: 3
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Q.99 Identify correct statements form the following:
A. Factor cost of education can be exactly put in the same fashion as treated in the case of a
firm or an industry.
B. There are no separate price indices for use in educational set up.
C. Educational demand is an external determinant of educational cost.
D. Rate of economic growth does not limit availability of revenues to education.
E. Unit costs have been used in the literature in many ways according to the objectives in view.
Choose the correct answer from the options given below:
1. A, B, D Only
2. A, B, E Only
3.B,C.D Only
4.B, C,E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664068
Option 11D : 93806615829
Option 2 ID : 93806615830
Option 3 1D : 93806615831
Option 4 1D : 93806615832
Status : Answered
Chosen Option : 4
Q.100 Match List I'with List II: Match according to NEP 2020
LIST-I LIST-IT
Issue Recommendation
Platforms will be developed so that
A.|Recruitment and deployment of teachers | I. |teachers may share ideas and best
practices
B.| Service environment and culture IL N{) school stage will be considered more
important that any other
C.|Continuous professional development 1. T.ransfers will occur in fergipesiy
circumstances.
School complexes could also share
D.|Career management and progression IV. | counsellors, trained social workers, and
technical and maintenance staff etc.
Choose the correct answer from the options given below:
LAIIBICIVDII
2ANIBICIVDII
3JLAIVBICIODII
4 AMMBIVCIDII
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664092
Option 11D : 93806615925
Option 2 1D : 93806615926
Option 31D : 93806615927
Option 4 1D : 93806615928
Status : Answered
Chosen Option : 4
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Q101 “An individual is intelligent in proportion as he is able to carry on abstract thinking.” This
definition of intelligence is given by:
1. Stern
2. Wagnon
3. Terman
4. David Wechsler
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664022
Option 11D : 93806615645
Option 2 ID : 93806615646
Option 3 ID : 93806615647
Option 4 ID : 93806615648
Status : Answered
Chosen Option : 4
Q.102 i 3 & a5 i
The central insight in phenomenological analysis is the .
1. Theory of intentionality
2. Theory of knowledge
3. Theory of power
4. Theory of unconsciousness
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664030
Option 1 ID : 93806615677
Option 2 ID : 93806615678
Option 31D : 93806615679
Option 4 ID : 93806615680
Status : Answered
Chosen Option : 1
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Q.103 Which of the following is correct in context of writing objectives in behavioural terms?

A. Robert Miller’s approach (1962) has its origin from biological sciences.

B. Robert Mager’s approach gives emphasis on action verbs rather than mental processes.

C. Regional College of Education, Mysore (NCERT-1972) approach for writing behavioural
objectives emphasized on mental abilities.

D. Robert Mager concentrates on cognitive, affective and psychomotor objectives.

E. B. S. Bloom has shifted the emphasis from content to objective.

Choose the correct answer from the options given below:

1. B, C. E Only
2.A,C,DOnly
3.B,D, E Only
4.C,D, E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664079
Option 11D : 93806615873
Option 2 ID : 93806615874
Option 31D : 93806615875
Option 4 ID : 93806615876
Status : Answered
Chosen Option : 2
Q.104 Match the functions of management
LIST-I LIST-II
activates the organizational methods to
A.|Planning L. |work efficiently for achieving
organizational purposes.
o — e
C.| Staffing III. | to provide it with everything useful.
D.|Directing IV. |manning the organizational structure.
Choose the correct answer from the options given below:
ILAMMBICODIV
22ANMIBIICIVDI
3JLAIBIVCIHOIDII
4 AIVBICIDII
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664098
Option 11D : 93806615949
Option 2 ID : 93806615950
Option 3 ID : 93806615951
Option 4 ID : 93806615952
Status : Answered
Chosen Option: 2
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Q.105 5
PCK framework was given by
1. Lee Shulman
2. Zongyi Deng
3. Allan Luke
4. Jurgen Habermas
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664025
Option 11D : 93806615657
Option 2 ID : 93806615658
Option 3 ID : 93806615659
Option 4 ID : 93806615660
Status : Answered
Chosen Option : 4
Q.106 ‘Which of the following are correct principles of the UN Convention on the Rights of the People
with Disabilities.
A. Non-discrimination
B. Accessibility
C. Partial participation
D. Equality of opportunity
E. Segregated approach
Choose the correct answer from the options given below:
1.B, C. D Only
2. A,B,D Only
3.A,B, COunly
4.A,C,D, E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664084
Option 11D : 93806615893
Option 2 ID : 93806615894
Option 31D : 93806615895
Option 4 ID : 93806615896
Status : Answered
Chosen Option : 2
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Q.107 Identify correct assertions according to Roger’s theory of personality.
A. Self-actualisers are the healthiest one percent of the population.
B. The perceived self influences both the person’s perception of the world and his or her
behaviour.
C. People are likely to function more effectively if they are brought up with unconditional
positive regard.
D. Each of us has an ideal self.
E. Individuals, whose self-concepts match their feelings and experiences, must defend
themselves against the truth.
Choose the correct answer from the options given below:
1.A.B,COnly
2.B,C.D Ouly
3.B,D,E Only
4.C, D, E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664071
Option 1 ID : 93806615841
Option 2 1D : 93806615842
Option 31D : 93806615843
Option 4 ID : 93806615844
Status : Answered
Chosen Option : 2
Q.108 2 Z
Who has coined the term ‘x-MOOC” in 20127
1. William and Flora
2. Stephen Downes
3. Lane
4. Sebastian Thurn
Options 1. 1
237
3.3
4.4
Question Type : MCQ
Question ID : 9380664042
Option 11D : 93806615725
Option 2 ID : 93806615726
Option 31D : 93806615727
Option 4 ID : 93806615728
Status : Answered
Chosen Option : 1
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Q.109 ‘Which of the following statement is NOT true about Idealism?
L. In scheme of curriculum, idealism is not prepared to give any particular preference to any
2. ::lj:i(l:;tm has talked more of objectives and aims of education and less of devices, methods
and organisations.
3. Subjects which have a flavour of personal greatness are greatly emphasized by Idealism.
4. Idealism pay much attention to the present experience of the child in its approach to the
problem of curriculum.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664013
Option 11D : 93806615609
Option 2 ID : 93806615610
Option 31D : 93806615611
Option 4 ID : 93806615612
Status : Answered
Chosen Option : 1
Q.110 In which stage children are dreamers, with magical thoughts and fantasies in abundance?
1. Formal operational stage
2. Pre-operational stage
3. Concrete operational stage
4. Sensorimotor stage
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664021
Option 1 ID : 93806615641
Option 2 ID : 93806615642
Option 3 ID : 93806615643
Option 4 ID : 93806615644
Status : Answered
Chosen Option: 2
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Q111 ‘Which of the following is NOT related to basic six components of ASSURE model:
L. Require learner participation
2. Analyze teacher
3. Evaluate and revise
4. Utilize technology, media and material
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664040
Option 11D : 93806615717
Option 2 1D : 93806615718
Option 31D : 93806615719
Option 4 1D : 93806615720
Status : Answered
Chosen Option: 2
Q112 Arrange the following steps of budget formulation and its role in the implementation of
edcuational progmmes in correct sequence.
A. Finance department issues guidelines for budget preparation.
B. Heads of departments instruct subordinate offices and units to prepare budgets.
C. Budget serves as an interim instrument for implementing educational policies.
D. Legislative appraises the performance of departments before voting on expenditure.
Choose the correct answer from the options given below:
1.B,A,C,D
T B DG
3.C,D.B.A
4.A,B.C.D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664052
Option 11D : 93806615765
Option 2 1D : 93806615766
Option 31D : 93806615767
Option 4 1D : 93806615768
Status : Answered
Chosen Option : 2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

amns Which of the following disability is caused by Fragile ‘X’ syndrome?
1. Learning disability
2. Intellectual disability
3. Visual impairment
4. Locomotor disability
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664047
Option 11D : 93806615745
Option 21D : 93806615746
Option 31D : 93806615747
Option 4 ID : 93806615748
Status : Answered
Chosen Option : 4
Q.114 Choose the correct statements:
A Formal system of schooling is based on the philosophies of idealism and realism.
B. The school’s formal social system has hierarchy of positions along which people are
assigned different roles.
C. Realism does not recommend the definite curriculum.
D. Informal and non-formal education have their roots in the progressive philosophy of
education.
E. Idealism believes that knowledge can be obtained without the help of teacher.
Choose the correct answer from the options given below:
1.C,D.E Only
2. A B,D Only
3.B,D.E Only
4. A, C,D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664066
Option 11D : 93806615821
Option 2 1D : 93806615822
Option 31D : 93806615823
Option 4 1D : 93806615824
Status : Answered
Chosen Option : 2
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Q115 \rateh the LIST with LIST-IT

LIST-I LIST-II
Theory Attributes
; 3 Individuals take actions that will likely
A, Signaling theery L increase their future earnings

Individuals choose a course of action

B.|Human capital theory II. | that is most in line with their personal
preferences
C.|Behaviourism III. | Information asymmetry

Study of politics should begin with

D.| Theory of rational choice V. sicisty

Choose the correct answer from the options given below:

LLAIBIVCHIDII
2.AIVBICIDII
3.AIVBIICIIDI
4 ATMMBICIVDII

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664089
Option 11D : 93806615913
Option 2 1D : 93806615914
Option 31D : 93806615915
Option 4 1D : 93806615916
Status : Answered
Chosen Option : 4

Q116 \raich the LIST with LIST-IT

LIST-I LIST-I

key terms of model of intellect Description

- Altering or restructuring intellectual
A.|Cognition L g &

contents.

B.|Relations II. | An ordering or classification of relations.
C.|Systems II1. | A connection between coneepts.
D.| Transformation IV.|Recognizing and discovering.

Choose the correct answer from the options given below:

LLAIBICHIDIV
2. ANBIVCIDII
JAIVBIICIIDI
4 AMBICIDIV
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664091
Option 11D : 93806615921
Option 2 ID : 93806615922
Option 31D : 93806615923
Option 4 ID : 93806615924
Status : Answered
Chosen Option: 3



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

7

GET IT ON

Google Play

Q117 \rateh the LIST with LIST-IT

LIST-I LIST-II
Act Year
A.|National Trust Act I. 11999
B.|PWD Act I1. {2009
C.|RCI Act II1.| 1992
D.|RTE Act IV.[ 1995

Choose the correct answer from the options given below:

LLATIBIMICIVDI
2.AIBIVCIHIDII
3JAMBOCIVDI
4. AIBIICIDIV

Chosen Option :

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664100
Option 11D : 93806615957
Option 2 ID : 93806615958
Option 31D : 93806615959
Option 4 1D : 93806615960
Status : Answered
Chosen Option: 2
Q.18 Arrange the following goals of Individualised Education Plan (IEP) in correct sequence:
A. Specifie
B. Attainable
C. Time bound
D. Result oriented
E. Measurable
Choose the correct answer from the options given below:
l.B,A.E.D.C
2.AE.B,D,C
3.E,A,B,D,C
4.A,B.C.D,E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664064
Option 11D : 93806615813
Option 2 1D : 93806615814
Option 31D : 93806615815
Option 4 ID : 93806615816
Status : Answered

1
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Q.119 One teacher manages most of the class while other teacher works with small group inside or
outside of the classroom. This is an example of which co-teaching method.

L. Alternative teaching
2. Parallel teaching
3. Station teaching
4. One teach one assist

Which of the following statements is true about Sankhya Philosophy?

1. “*Gya’ is matter or Prakriti.

2. Vyakta is consequence of the Karya-karana.

3. Avvakta is Purush.

4. Sankhya asserts that existence of God can be proved.
Options 1. 1

2.2

3.3

4.4

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664019
Option 11D : 93806615633
Option 2 1D : 93806615634
Option 31D : 93806615635
Option 4 ID : 93806615636
Status : Answered
Chosen Option : 4
Q.120

Question Type : MCQ
Question ID : 9380664014
Option 11D : 93806615613
Option 2 ID : 93806615614
Option 31D : 93806615615
Option 4 ID : 93806615616

Status : Answered
Chosen Option : 3
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Q.121 Match List I with List II: According to Blake and Mouton’s Managerial Grid, Match

LISTI LIST-II
A.|Impoverished Management L |85
B.|Authority-compliance Im | 1.1
C.|Middle of the Road 1IL. {99
D.| Team/Earn Management V. (9.1

LLAIBIICIVDII
2.AIIBICIIDIV
JLAIBIVCIDII
4. AIVBIOICIDII

Choose the correct answer from the options given below:

Chosen Option :

Options 1. 1
2.2
3, 8
4.4
Question Type : MCQ
Question ID : 9380664099
Option 1 ID : 93806615953
Option 2 ID : 93806615954
Option 3 ID : 93806615955
Option 4 ID : 93806615956
Status : Answered
Chosen Option : 3
Q.122 : z
According to Unruch and Unruch, arrange the curriculum development steps:
A. Content
B. Goals and objectives
C. Need assessment
D. Evaluation
E. Implementation
Choose the correct answer from the options given below:
1.B,C,AE,D
2.A,B,C,D,E
3.E.B,D,C,A
4. AE,D,B,C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664056
Option 11D : 93806615781
Option 2 ID : 93806615782
Option 3 ID : 93806615783
Option 4 ID : 93806615784
Status : Answered

1
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Q123 Arrange the focus points as given in document of NCF 2005 in correct sequence:
A. Availability of minimum infrastructure and material facilities for better learning
environment.
B. Reconstruction of school curricula to emphasize the pedagogic potential of work.
C. Integration of environment concerns into teaching disciplines.
D. Emphasis on promoting peace oriented values in all subjects.
Choose the correct answer from the options given below:
1.B,D,A,C
2.D,A,B,C
3.B.D,C,A
4.A,B,C,D
Options 1. 1
2.2
8. 3
4.4
Question Type : MCQ
Question ID : 9380664065
Option 11D : 93806615817
Option 2 ID : 93806615818
Option 31D : 93806615819
Option 4 ID : 93806615820
Status : Answered
Chosen Option : 4
Q.124 =
Arrange the steps of systems approach given by Robb (1974).
A. Specifying appropriate strategies
B. Defining and assigning personnel roles
C. Determining initial behaviour
D. Defining objectives
E. Specifying material, aids and media
Choose the correct answer from the options given below:
I.C,D.E.A.B
2.B,A,E,.C,D
3.CB.D.AE
4.D,C,A.E,B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664062
Option 11D : 93806615805
Option 2 ID : 93806615806
Option 31D : 93806615807
Option 4 ID : 93806615808
Status : Answered
Chosen Option : 4
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1. Phenomenology research
2. Ethnography research
3. Grounded theory

Q.125 Which research is a portrayal and explanation of social groups and situations in their real life
contexts?

4. Case study
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664033
Option 11D : 93806615689
Option 2 ID : 93806615690
Option 31D : 93806615691
Option 4 ID : 93806615692
Status : Answered
Chosen Option : 2
Q.126 3 2 ;
Arrange the following stages of an experiment in a research study.
A. Selecting the relevant variables
B. Designing the experiment
C. Conduct the intervention
D. Assigning the participants to the group(s)
E. Conduct the post-test
Choose the correct answer from the options given below:
I.D,E,B, A, C
2.C,D,A;B,E
31B,D,EAC
4. A B,D.C.E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664058
Option 11D : 93806615789
Option 2 ID : 93806615790
Option 31D : 93806615791
Option 4 ID : 93806615792
Status : Answered
Chosen Option : 4
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Q.127 ) _ )
Who described the theory of Communicable Action?
1. Zongyi Deng
2. Allan Luke
3. Jurgen Herbermas
4. Lee Shulman
Options 1. 1
2.2
8. 8
4.4
Question Type : MCQ
Question ID : 9380664024
Option 11D : 93806615653
Option 2 ID : 93806615654
Option 3 ID : 93806615655
Option 4 ID : 93806615656
Status : Answered
Chosen Option: 3
Q.128 z ;o5 % 2 g
‘Which of the following is a part of internal compliance monitoring?
1. Maintenance of a process for reporting exceptions.
2. Constant reviewing of the policies and procedures in the organization.
3. Periodically assessing and reassessing the risk of criminal conduct.
4. Implementation of the different standards as well as procedures.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664043
Option 1 ID : 93806615729
Option 2 ID : 93806615730
Option 3 ID : 93806615731
Option 4 ID : 93806615732
Status : Answered
Chosen Option: 2
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Q129 ‘Which of the following statements are true about educational technology?

A. Educational technology borrowed the term ‘systems approach’ from management studies.

B. By the mid 1950s, educational technology borrowed the term ‘systems approach’

C. Technology of Education implies the use of audio-visual aids.

D. Education technology borrowed the term ‘corrective feedback’ from cybernetics.

E. In initial phase of development of educational technology, it mainly referred to ‘technology
in education’

Choose the most appropriate answer from the options given below:

1.A, B, C Only
2.A,C,DOnly
3. A D,E Only
4. A, C,D, E Only
Options 1. 1
2.2
8. 8
4.4
Question Type : MCQ
Question ID : 9380664080
Option 11D : 93806615877
Option 2 1D : 93806615878
Option 31D : 93806615879
Option 41D : 93806615880
Status : Answered
Chosen Option : 4
Q.130 Arrange the following commissions according to their year of establishment in ascending order:
A Justice Verma Commission
B. National Knowledge Commission
C. National Commission on Teachers
D. National Policy on Education
E. National Education Commission
Choose the correct answer from the options given below:
Pl DK
2.D.A,B.C.E
3.C,D.E.AB
4.B,E,C,D,A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664055
Option 11D : 93806615777
Option 2 ID : 93806615778
Option 3 ID : 93806615779
Option 4 ID : 93806615780
Status : Answered
Chosen Option: 1
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Q.131

Malcolm Knowles elaborated the term Andragogy in his famous work

1. Adult Education: Concept, Theory and Practice

2. The Moderm Practice of Adult Education: Andragogy vs Pedagogy
3. Theory and Practice of Andragogy

4. Andragogy Education: Concept, Theory and Practice

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664038
Option 11D : 93806615709
Option 2 ID : 93806615710
Option 31D : 93806615711
Option 4 ID : 93806615712

Status : Answered

Chosen Option : 1

Q.132 ‘Which of the following statements are INCORRECT regarding benefits of inclusion.

A. Social competence and communication skills of children with diverse abilities are
deteriorated in inclusive settings.

B. Children with disabilities demonstrate high levels of social interaction with non disabled
peers in inclusive settings.

C. Friendships more commonly develop between children with disabilities and those without
disabilities in inclusive settings.

D. Children with disabilities demonstrate high levels of social interaction with disabled peers in
inclusive settings.

E. Social acceptance of children with diverse abilities is decreased in inclusive settings.

Choose the correct answer from the options given below:

1. Aand E Only
2. B and C Only
3. C and E Only
4. A and D Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664085
Option 11D : 93806615897
Option 2 1D : 93806615898
Option 31D : 93806615899
Option 4 1D : 93806615900

Status : Answered

Chosen Option: 1
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Q.133 Identify INCORRECT statements.
A. Curriculum is based on the philosophy, goals and values of edcuation.

C. Curriculum is basically concerned with school subjects.
D. Curriculum is a part of syllabus.
E. Curriculum includes not only indoor activities but also outdoor activities of the school.

Choose the correct answer from the options given below:

1. Aand E Only
2.D and B Only
3.Cand D Only
4. E and B Only

B. Curriculum refers to all the educational activities of the school in widest possible sense.

Options 1. 1
2.2
3, 3
4.4
Question Type : MCQ
Question ID : 9380664074
Option 11D : 93806615853
Option 2 ID : 93806615854
Option 3 1D : 93806615855
Option 4 1D : 93806615856
Status : Answered
Chosen Option : 3
Q.134 ) ] )
Which one does NOT belong to inclusive approach?
1. Flexible
2. Diagnostic
3. Individualistic
4. Holistic
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 9380664049
Option 11D : 93806615753
Option 2 ID : 93806615754
Option 3 ID : 93806615755
Option 4 1D : 93806615756
Status : Answered
Chosen Option : 3
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Q.135 Identify correct statements.

A. Awiki allows multiple users to read and write a web document but editing is not allowed.

B. A vlog uses videos as the primary media source.

C. Microblog services allow user to send text based updates or post short messages.

D. To create a wiki for a course, faculty can use either a campus wide learning management
system or an open source programine.

E. A blog consists of series of time stamped entries posted by readers followed by blog’s
creator.

Choose the correct answer from the options given below:

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664081
Option 11D : 93806615881
Option 2 1D : 93806615882
Option 31D : 93806615883
Option 4 1D : 93806615884

Status : Answered

Chosen Option : 2

Q.136 Halo Effect is very common constant error committed by raters/teachers in assessment of
students through rating scale. This error was first mentioned by Wells in 1907 and was named so
by

1. Anastasi (1968)
2. Symonds (1925)
3. Murray (1938)

4. Thorndike (1920)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664035
Option 11D : 93806615697
Option 2 1D : 93806615698
Option 31D : 93806615699
Option 4 1D : 93806615700

Status : Answered

Chosen Option : 3
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Q137 Mateh the LIST with LIST-IT

LIST-I LIST-II
Affective Domain Level Description
A.|Organization 1. [Willingness to pay attention
B.|Responding II. | Showing a preference for a value
C.|Receiving II1. | Adopting a constant value system
D.|Valuing IV. | Participating actively

Choose the correct answer from the options given below:

ILAIIBIVCIIDI
2.AMBIVCIIDI
JLAMMBIVCIDII
4 AIBIICIVDI

Options 1. 1
2.2
3, 3
4.4
Question Type : MCQ
Question ID : 9380664096
Option 11D : 93806615941
Option 2 1D : 93806615942
Option 31D : 93806615943
Option 4 1D : 93806615944
Status : Answered
Chosen Option : 1
Q.138

Which is NOT a characteristic of qualitative research?

1. Exploring, developing, understanding a central phenomenon
2. Collecting data based on words
3. Analyzing the data with statistics
4. Writing the report using researcher’s subjective reflexivity
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664031
Option 11D : 93806615681
Option 2 1D : 93806615682
Option 31D : 93806615683
Option 4 ID : 93806615684

Status : Answered

Chosen Option: 3
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Q.139

First chairperson of National Council for Teacher Education (NCTE) was

1. Pankaj Arora
2. Santosh Panda
3. 1. S. Rajput

4. M. A. Siddiqui

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664026
Option 11D : 93806615661
Option 2 1D : 93806615662
Option 31D : 93806615663
Option 4 ID : 93806615664

Status : Answered

Chosen Option : 2

Q.140 ‘Which of the following is NOT a recommendation of National Knowledge Commission (2007)
with respect to School Education?

1. Central Legislation for the right to education.
2. More rigidity in disbursal of funds.
3. Decentralization and greater local autonomy.
4. Expansion of functional literacy.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 9380664015
Option 11D : 93806615617
Option 2 1D : 93806615618
Option 31D : 93806615619
Option 4 ID : 93806615620

Status : Answered

Chosen Option : 2
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Comprehension:
Read the passage carefully and answer the question that follows -

Phenomenology lies on the opposite side of the explanatory gap from computational theories. It is
the study of consciousness from the first-person perspective-how the world appears to me. There
1s a long tradition of phenomenology in European philosophy and psychology, but it is sometimes
dismissed as a legitimate approach to the study of perception, because it is inherently subjective.
Scientific approaches are usually considered to require objective methods. However,
phenomenological studies can be performed using a variant of standard empirical scientific
methods, including hypothesis generation and observation. There are several key differences
between conventional psychophysical observations and phenomenological observations. The
convention in psychophysics is to keep subjects naive as to the purpose of the experiment, and
give them a well-defined task with highly constrained responses such as “yes” versus “no”. In
phenomenological experiments subjects are often fully informed about the purpose of the
experiment, and their task is kept relatively open with loosely constrained responses. Response
classification may oceur only after the data have been examined. A key check on validity in
phenomenological experiments is intersubjectivity, or agreement among individuals about the
nature of their perceptual experience.

SubQuestion No : 141

Q141 _
Phenomenology is

1. a type of quantitative research.

2. an explanatory gap.

3. an example of computational theories.

4. dependent upon researcher’s perspective.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664102
Option 11D : 93806615961
Option 2 ID : 93806615962
Option 31D : 93806615963
Option 4 ID : 93806615964

Status : Answered

Chosen Option : 4



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON

Google Play

Comprehension:
Read the passage carefully and answer the question that follows -

Phenomenology lies on the opposite side of the explanatory gap from computational theories. It is
the study of consciousness from the first-person perspective-how the world appears to me. There
1s a long tradition of phenomenology in European philosophy and psychology, but it is sometimes
dismissed as a legitimate approach to the study of perception, because it is inherently subjective.
Scientific approaches are usually considered to require objective methods. However,
phenomenological studies can be performed using a variant of standard empirical scientific
methods, including hypothesis generation and observation. There are several key differences
between conventional psychophysical observations and phenomenological observations. The
convention in psychophysics is to keep subjects naive as to the purpose of the experiment, and
give them a well-defined task with highly constrained responses such as “yes” versus “no”. In
phenomenological experiments subjects are often fully informed about the purpose of the
experiment, and their task is kept relatively open with loosely constrained responses. Response
classification may oceur only after the data have been examined. A key check on validity in
phenomenological experiments is intersubjectivity, or agreement among individuals about the
nature of their perceptual experience.

SubQuestion No : 142

Q.142 .
In a phenomenological study
1. hypothesis generation i1s never required.
2. empirical scientific methods are not possible.
3. scientific observation 1s used.
4. aim of the study is kept secret.
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status
Chosen Option

McQ
9380664106
93806615977
93806615978
93806615979
93806615980

: Answered
03
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Comprehension:

Read the passage carefully and answer the question that follows -

Phenomenology lies on the opposite side of the explanatory gap from computational theories. It is
the study of consciousness from the first-person perspective-how the world appears to me. There
1s a long tradition of phenomenology in European philosophy and psychology, but it is sometimes
dismissed as a legitimate approach to the study of perception, because it is inherently subjective.
Scientific approaches are usually considered to require objective methods. However,
phenomenological studies can be performed using a variant of standard empirical scientific
methods, including hypothesis generation and observation. There are several key differences
between conventional psychophysical observations and phenomenological observations. The
convention in psychophysics is to keep subjects naive as to the purpose of the experiment, and
give them a well-defined task with highly constrained responses such as “yes” versus “no”. In
phenomenological experiments subjects are often fully informed about the purpose of the
experiment, and their task is kept relatively open with loosely constrained responses. Response
classification may oceur only after the data have been examined. A key check on validity in
phenomenological experiments is intersubjectivity, or agreement among individuals about the
nature of their perceptual experience.

SubQuestion No : 143

Q.143 In phenomenology, consensus among persons about a perception relates to the concept of:

1. Validity

2. Reliability

3. Generalisability
4. Usability

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664103
Option 11D : 93806615965
Option 2 ID : 93806615966
Option 31D : 93806615967
Option 4 1D : 93806615968

Status : Answered

Chosen Option: 3
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Comprehension:

Read the passage carefully and answer the question that follows -

Phenomenology lies on the opposite side of the explanatory gap from computational theories. It is
the study of consciousness from the first-person perspective-how the world appears to me. There
1s a long tradition of phenomenology in European philosophy and psychology, but it is sometimes
dismissed as a legitimate approach to the study of perception, because it is inherently subjective.
Scientific approaches are usually considered to require objective methods. However,
phenomenological studies can be performed using a variant of standard empirical scientific
methods, including hypothesis generation and observation. There are several key differences
between conventional psychophysical observations and phenomenological observations. The
convention in psychophysics is to keep subjects naive as to the purpose of the experiment, and
give them a well-defined task with highly constrained responses such as “yes” versus “no”. In
phenomenological experiments subjects are often fully informed about the purpose of the
experiment, and their task is kept relatively open with loosely constrained responses. Response
classification may oceur only after the data have been examined. A key check on validity in
phenomenological experiments is intersubjectivity, or agreement among individuals about the
nature of their perceptual experience.

SubQuestion No : 144

Q.144 o
Scientific approach to research

1. can never be based on personal experiences.
2. usually to be objective in nature.

3. can never be qualitative.

4. always uses some statistics.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664105
Option 11D : 93806615973
Option 2 ID : 93806615974
Option 31D : 93806615975
Option 4 1D : 93806615976

Status : Answered

Chosen Option : 2
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Comprehension:
Read the passage carefully and answer the question that follows -

Phenomenology lies on the opposite side of the explanatory gap from computational theories. It is
the study of consciousness from the first-person perspective-how the world appears to me. There
is a long tradition of phenomenology in European philosophy and psychology, but it is sometimes
dismissed as a legitimate approach to the study of perception, because it is inherently subjective.
Scientific approaches are usually considered to require objective methods. However,
phenomenological studies can be performed using a variant of standard empirical scientific
methods, including hypothesis generation and observation. There are several key differences
between conventional psychophysical observations and phenomenological observations. The
convention in psychophysics is to keep subjects naive as to the purpose of the experiment, and
give them a well-defined task with highly constrained responses such as “yes” versus “no”. In
phenomenological experiments subjects are often fully informed about the purpose of the
experiment, and their task is kept relatively open with loosely constrained responses. Response
classification may oceur only after the data have been examined. A key check on validity in
phenomenological experiments is intersubjectivity, or agreement among individuals about the
nature of their perceptual experience.

SubQuestion No : 145

Q.145 _
In psychophysics

1. subjects are less aware of the purpose.
2. subjects are fully aware of the purpose.
3. tasks have more constrained responses.
4. tasks have less constrained responses.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664104
Option 11D : 93806615969
Option 2 ID : 93806615970
Option 31D : 93806615971
Option 4 ID : 93806615972

Status : Answered

Chosen Option : 1
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Comprehension:

Read the passage carefully and answer the question that follows -

The etymology of the word allows us to see the child with a disability as fighting against the
odds. How high those odds are depends on many factors, of which type and severity of
impairment are two of immediate concern. Irrespective of these factors, the principle of the
teacher’s role as assisting the young person not to allow the problem to impede development is
attractive. The metaphor does not lie only with the child with the particular disability; in the
inclusive classroom it allows a picture of the teacher monitoring the learner, all learners,
irrespective of physique, internal bodily systems, psychological adjustment or intelligence.
Inclusion does not mean that handicap does not exist. If a disability handicaps performance in
any significant way then in those areas a specific attack needs to be made on how the problem
can be overcome. This may mean modifying curriculum demands and hence the need for a
critical, objective assessment of skills and strengths that can be built up. It may mean devising
and teaching strategies the child can use when faced with the situations they find difficult.
Focusing on these practical aspects of the learner’s needs will have the effect of lessening
thinking about the disability and more on the achievement of goals and increasing abilities. Tt will
also change the teacher’s attitudes. Inclusion will be seen not as an insurmountable challenge but
as a process of learning that affects everyone in the class and school.

SubQuestion No : 146
Q.146 Inclusive philosophy means that:

1. The teacher will not give extra time to a particular learner.

2. The teacher has to use prescribed pedagogies only.

3. The children with profound disabilities should be sent to special schools.
4. Trrespective of the challenge, the teacher will help the learner.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664110
Option 1 ID : 93806615989
Option 2 ID : 93806615990
Option 3 ID : 93806615991
Option 4 ID : 93806615992

Status : Answered

Chosen Option : 4
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Comprehension:

Read the passage carefully and answer the question that follows -

The etymology of the word allows us to see the child with a disability as fighting against the
odds. How high those odds are depends on many factors, of which type and severity of
impairment are two of immediate concern. Irrespective of these factors, the principle of the
teacher’s role as assisting the young person not to allow the problem to impede development is
attractive. The metaphor does not lie only with the child with the particular disability; in the
inclusive classroom it allows a picture of the teacher monitoring the learner, all learners,
irrespective of physique, internal bodily systems, psychological adjustment or intelligence.
Inclusion does not mean that handicap does not exist. If a disability handicaps performance in
any significant way then in those areas a specific attack needs to be made on how the problem
can be overcome. This may mean modifying curriculum demands and hence the need for a
critical, objective assessment of skills and strengths that can be built up. It may mean devising
and teaching strategies the child can use when faced with the situations they find difficult.
Focusing on these practical aspects of the learner’s needs will have the effect of lessening
thinking about the disability and more on the achievement of goals and increasing abilities. Tt will
also change the teacher’s attitudes. Inclusion will be seen not as an insurmountable challenge but
as a process of learning that affects everyone in the class and school.

SubQuestion No : 147

Q.147 o _
Inclusion in education refers to:

1. general solutions to all problems.

2. specific solutions to specific problems.

3. believing that disability does not exist.

4. a challenge almost impossible to overcome.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664112
Option 11D : 93806615997
Option 2 ID : 93806615998
Option 31D : 93806615999
Option 4 1D : 93806616000

Status : Answered

Chosen Option: 2
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Comprehension:

Read the passage carefully and answer the question that follows -

The etymology of the word allows us to see the child with a disability as fighting against the
odds. How high those odds are depends on many factors, of which type and severity of
impairment are two of immediate concern. Irrespective of these factors, the principle of the
teacher’s role as assisting the young person not to allow the problem to impede development is
attractive. The metaphor does not lie only with the child with the particular disability; in the
inclusive classroom it allows a picture of the teacher monitoring the learner, all learners,
irrespective of physique, internal bodily systems, psychological adjustment or intelligence.
Inclusion does not mean that handicap does not exist. If a disability handicaps performance in
any significant way then in those areas a specific attack needs to be made on how the problem
can be overcome. This may mean modifying curriculum demands and hence the need for a
critical, objective assessment of skills and strengths that can be built up. It may mean devising
and teaching strategies the child can use when faced with the situations they find difficult.
Focusing on these practical aspects of the learner’s needs will have the effect of lessening
thinking about the disability and more on the achievement of goals and increasing abilities. Tt will
also change the teacher’s attitudes. Inclusion will be seen not as an insurmountable challenge but
as a process of learning that affects everyone in the class and school.

SubQuestion No : 148

Q.148
Challenges faced by a person with disability depend most on:

1. Attitudes of the society.

2. Degree of disability.

3. Socio-economic condition of the family.
4. Behaviour of peers.

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 9380664108
Option 11D : 93806615981
Option 2 1D : 93806615982
Option 31D : 93806615983
Option 4 ID : 93806615984

Status : Answered

Chosen Option : 2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Google Play

Comprehension:

Read the passage carefully and answer the question that follows -

The etymology of the word allows us to see the child with a disability as fighting against the
odds. How high those odds are depends on many factors, of which type and severity of
impairment are two of immediate concern. Irrespective of these factors, the principle of the
teacher’s role as assisting the young person not to allow the problem to impede development is
attractive. The metaphor does not lie only with the child with the particular disability; in the
inclusive classroom it allows a picture of the teacher monitoring the learner, all learners,
irrespective of physique, internal bodily systems, psychological adjustment or intelligence.
Inclusion does not mean that handicap does not exist. If a disability handicaps performance in
any significant way then in those areas a specific attack needs to be made on how the problem
can be overcome. This may mean modifying curriculum demands and hence the need for a
critical, objective assessment of skills and strengths that can be built up. It may mean devising
and teaching strategies the child can use when faced with the situations they find difficult.
Focusing on these practical aspects of the learner’s needs will have the effect of lessening
thinking about the disability and more on the achievement of goals and increasing abilities. Tt will
also change the teacher’s attitudes. Inclusion will be seen not as an insurmountable challenge but
as a process of learning that affects everyone in the class and school.

SubQuestion No : 149

Q.149
Which of the following is NOT a part of inclusion:

1. Increased thinking about disabilities
2. Modifying curriculum

3. Evaluating strengths

4. Assessing skills

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 9380664111
Option 1 1D : 93806615993
Option 2 ID : 93806615994
Option 3 1D : 93806615995
Option 4 1D : 93806615996

Status : Answered

Chosen Option : 4
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Comprehension:
Read the passage carefully and answer the question that follows -

The etymology of the word allows us to see the child with a disability as fighting against the
odds. How high those odds are depends on many factors, of which type and severity of
impairment are two of immediate concern. Irrespective of these factors, the principle of the
teacher’s role as assisting the young person not to allow the problem to impede development is
attractive. The metaphor does not lie only with the child with the particular disability; in the
inclusive classroom it allows a picture of the teacher monitoring the learner, all learners,
irrespective of physique, internal bodily systems, psychological adjustment or intelligence.
Inclusion does not mean that handicap does not exist. If a disability handicaps performance in
any significant way then in those areas a specific attack needs to be made on how the problem
can be overcome. This may mean modifying curriculum demands and hence the need for a
critical, objective assessment of skills and strengths that can be built up. It may mean devising
and teaching strategies the child can use when faced with the situations they find difficult.
Focusing on these practical aspects of the learner’s needs will have the effect of lessening
thinking about the disability and more on the achievement of goals and increasing abilities. Tt will
also change the teacher’s attitudes. Inclusion will be seen not as an insurmountable challenge but
as a process of learning that affects everyone in the class and school.

SubQuestion No : 150

Q.150 ]
Inclusive classrooms are
1. related to children with disability only.
2. free from learner diversity.
3. focused on all learners.
4. usually an eutopia.
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :
Status :
Chosen Option :

McQ
9380664109
93806615985
93806615986
93806615987
93806615988
Answered
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